IPv4

EDNS0:4096 EDNS0:1232 EDNS0:512

IPv6

EDNS0:4096 EDNS0:1232 EDNS0:512

Dual-Stack

EDNS0:4096 EDNS0:1232 EDNS0:512

1

dnssec-both-UDP _client_edns _fallback
IPv4 IPv6

EDNS0:512 EDNSP:1232 EDNSP:4096

EDNS0:512 EDNSD:1232 EDNSP:4096

Dual-Stack

EDNS0:512 EDNSP:1232 EDNSP:4096

TTTT TTTT

TTTT

1

TIrrr TTTT

TTTT

1

TTTT TTTT

TTTT

L9927 9077 /AN A NN | %so | 477
VAR A N/ AV NN WA AR A
DL | Ll LY | 27 NN WAV AW/ A
/AR YN (/AW NN | Yt | A
LA | 9077 QL9 LNt NN | o272 | 44074
YL | 1L L1 | LAl Y N\N | Y0 7
AV YL | 71 NN | 4LU | LY
VAR Y YV /AW NN | A7 | 7
[ |
| |
[ |
[ |
Y09 | 097 L9097 G077 W | 24727 | 7477
AV o VA VAR A NN | LUl | LY
Ll | 247 /AW ANKN ’/’///// VA
/AW VAR NN | 44N | LY
7 A7 A 727 A N2 A 7777
LA | LY VAR A NN | Aty | Yts7 //
Yl s L7 7 /AW NN | U7 | (4
/AW Y VI /AN A NN | L7 | Lt
NNON [ DWW QNNN [ NNAN NNON [ NONN
NNNNRNTERRNNNNE [ ] NINANNNEERNANNYNY NANRNSNIERRNSNNNE [ ]
TNONN | AN\ [ HE. ANNYININEINTNNNNY NWONN [ AN\ ([ EEE
NNON [ NONN | HEEE | QNONN | NN\ | B NNON [ NNWN\N | HEEEN
LA | 947 DLLY | L NN | o272 | 4077
/) /////// ///’/// Yl NN | U7 | 12
DL | LY YL | NN W/ AWV
VAR 2 (VI AV A2 NN | vt | S
L9727 24747 G497, 19107 NN | 2227, 427
YULL | 47 ///,,//// Y77 NN | LY Lt
/AN YL | 17 NN WA /AN S
DL A (Y /AW 2V NN | A7 | vl
[ |
| |
[ |
|
L LI LI LI L LI L LI L
QF\SS&"? gﬁﬁg gﬁﬁg_"? gﬁ‘m‘g QFGKS&_"? QKS&‘E QF\SB&? gﬁ‘m‘g QEKS&"?
oggz 8885 3383 8885 3383 3883 8885 3885 3883
TSN T[N T[N T[N T[N T[N T[IN T[N T[N
S ® S ® S ® S ® S ® S® S ® S® S ®
E'UE S'UE 5'02 Evf E-UE S-UE S'UE EUE 5-02
[ c<s c<S [ [ (== (=) [ c<S
8§38 S38 S33 538 gS3IZ 538 SIS G383 533
2 S2 o= g2 oS ©= g2 ©2 o2
= 5 = 5 ! 5 5 5 =
[ Cc [ Cc [ Cc [ Cc [
o o o o o o o o R

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500

1280 (PMTUD)

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1280 (no PMTUD

15
1280 EPMTUD
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

15
1280 PMTUDL
1280 (no PMTUD

Path 1280 (no PMTUD)

1500

1280 PMTUDLJ

1280 (no PMTUD
Path 1280 (no PMTUD)

100;X >Y
50

-100; X <Y

log(‘%nssets (X) - %nssets (Y)D

fv)



